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Macroeconomic goals for
nation are-

a) economic growth R

b) high levels of employment
¢) stable price levels

d) All of the above

L — e T

study of the economy as a
whole

a) Micro Economics
b) Macro Economics

c) Botha & b
d) None of the above

n

Function (S a
function

Allocation

a) Macro Economic

| b) Micro Economic
¢) Both a and b

d) None of the above

was a bold advocate of
free markets and minimal
governmental activity

a) Alfred Marshall
b) J.M. Keynes
c) Milton Friedman

RSN

el |
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As per Adam Smith, the role of
government was-

national defense

establishing a system of justice &
iInternal law & order
establishment and maintenance
Qf | highly  beneficial public
(nstitutions

All of the above
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who introduced the three.-
branch taxonomy of the role of
6 | government in a market
economy in his book “The Theory

of Public Finance’ 7

a) Keynes

b) Buchanhan

¢) Richard Musgrave
d) Garrett Hardin

Market failures which hinder
7 | efficient allocation of resources

occur due to

B

| a) Imperfect competition and
presence of monopoly power
b) Externalities
¢c) Inequalities (n distribution of
lhcome.
d) All of the above
which one is the Allocation
g instrument which government

can use to influence resource

allocation 7

a) Government may directly
produce an economic gooa
| b) Employment reservations

c) Special schemes for backward
regions |
I_d) All of the above
| Using the proceeds from
progressive taxes used for

9 | financing public services that
benefit low-income households,
s an example of

a) Allocation Function

b) Redistribution Function
c) Stabilisation Function
d) None of the above
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10 Aim of Redistribution Function
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who suffer from deprivations
I
| ¢) Providing equality (n income
| vealth and opportunities
d) All of the above
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Fiscal federalism, a term

N Y

Macro economic stability is said ]

-

a) Buchanan
| D) Keyne:
C) Rl‘Chi,ﬁi?L’f MuUusgarave

d) None of the &bovc

federation of

a) 28 states and 7 union territories.
| D) 28 states and B union territories
Cc) 27 states and 7 union territories.
| d) 27 states and 8 union territories
| Federalism is an institutional
arrangement to daccommodate
16 | two sets of government — one
at the national level and the
other at _
a) Regional level
D) State Level
c) International level
d) District level
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In order to control high

inflation, the government may l
1

tax
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)} 27 Nov 201/
201/

d) 23 NOV

L—-—-- - —— =

Also join Telegram Channel of MVSIR
for reqular updates- @camvsir

Enroll in MVSIR's CA Foundation & CA Inter classes from- www.ultimateca.com

. ﬁ L :._‘ T : - g o 2 J e N |.-
‘ ‘C-A ROTINISHD Vi "V o




-
e A

L

:“‘\mi

a\ 35% of J!OCQ tax revenue Of
anion & 449% tax revenue of state

b) 40% of gross tax revenue of
| union & 60% tax revenue of state
c) 25% of gross tax revenue of
union & 24% tax revenue of state

d) 55% of gross tax revenue of
union & 35% tax revenue of state

JENN— L i

GST accounts for

|

How can government perform

redistribution function on the
expenditure side of the budget?

a) By providing free or subsidised
education, healthcare, etc 1O
deserving people

b) Through progressive taxation

c) Botha &b

d) None of the above

deals with the division of
governmental functions and
financial relations among the
different levels of government

a) Vertical Equity

b) Horizontal Equity
c) Fiscal Federalism
d) Eitheraor b

Article of the Constitution
demarcates powers of union &

state by classifying their powers
into three lists

In the event of conflicting
legislation in concurrent list,

the law passed by the
prevails

a) State Government
b) Central Government

c) Chief Minister of State
d) Both a & ¢

N
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Who can
agricultural income?

a) State Government
b) Central Government

c) Botha &b
d) None of the above

who can lew taxgs

’ agricultural mcome"

On

a) State Government
b) Central Government

c) Botha &b
d) None of the above

I

| Commission

nmended share of states in
the central taxes (vertical
dmlutton) for year 2021-26 to

be _

a) 35%
b) 44%
C) 42%
| d) 41%

|
|

a) Article 246 & 247
b) Article 268 & 269
c) Article 292 & 293
d) Article 255 & 256

a) Central Government
b) State Government

c) Local self governments
d) All of the above

Borrowing by the government of
India and borrowing by states
are defined under of
Constitution of India

is entrusted with
providing social sector servicés
such as health and education
police protection

enroll in MVSIR's CA Foundation & CA Inter classes from- www_ultimateca.com ,

BWA CA Mohnish Vora (MVSIR)

Wwww.mvsir.iii



l-'_.._,-..—--

is entrusted with
providing public utility services
cuch as water supply and

canitation

29

a) Central Government
p) State Government
¢) Local self governments

d) All of the above
il E———_—__—

while recommending transfers,

————————

the Finance Commission
considers issues related to |
. which deals with

deciding about the share of all
states in the revenue collected

by centre

a) Horizontal equity

b) Vertical Equity :
c) Parallel Equity |
d) All of the above j

31 GST was rolled out in India on

a) 1t April 2014 |
b) 15t April 2017
c) 15t July 2014
d) 15t July 2017
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For any particular
cervice or a combination of the

two, what is the ratio of SGST |
and CGST rates ?

| a) 59% CGST & 41% SGST
b) 70% CGST & 30% 5S¢
| ¢) 30% CGST & 70% S

d) Both rates are equ
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GST Compensation cess amount ;
was given to |

a) The companies who suffered loss
due to high rates of G2

essential (tems

c) Ccompensate the centro
government for the 10ss of
revenue due to introduction of
GST

d) The manufacturing states for
loss of revenue arising on
account of tmplementatior of
GST

is applied on inter-state

A ———
L

34 | movement of goods and services |
and on imports and exports |
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'_ n Externalities can be

|

Complete Market failure occurs

when
a) The market does hot supply |
products at all despite the fact |

that such products and services |

are wanted by people. _
p) The market  does actually ||

function but it produces wrong :

quantity or at wrong price.

c) Both a and b
d) None of the above

a) Negative Externalities
b) Positive Externalities
c) Both a and b

d) None of the above

Externalities are also be referred

to as

a) Spillover effects
b) Neighborhood effects
¢) Third party effects or side effects

d) All of the above

which of the below is initiated
in production and imposes an
external cost on others?

a) Negative Cconsumption

Externality
b) Negative Production Externality
c) Positive Production Externality

d) Positive Consumption Externality

!Mhich of the below is initiated
in Consumption and confers
external benefits on others?

a) Negative
Externality
b) Positive Production Externality
&) Neg'm‘:ive Production Externality
d) Positive Consumption Externality

Consumption

PWA CA Mohnish Vora (MVSIR)

Which of the following is tro
Social Cost are "

Social Cost are costs borne
individuals directly involved iy
transaction

Social Cost are external costc
borne by third parties pot
directly involved (n transaction.
Social Cost Private cost .
External Cost
All of the above

Dy
d

of

gave the
“collective consumption good”

who concept

’ in his paper “The pure theory of
Public Expenditure” ?
a) Paul A. Samuelson

Garrett Hardin
Oakland and Sandmo

Buchanan

Characteristics of Public Goods
are-

Consumption of a public good by
one individual does not reduce
the quality or quantity availablée
for all other

b) Public goods are not vulnerablé
to free-rider problem
c) it is possible to exclude O
brevent consumers who have not
paid for them
| d) All of the above
i L ,_’__:-;:
Though public goods 4"
extremely valuable for the well-
being of the society, left to th°
market, they will be __—
a) Over-produced
b) Not be produced at all
c) Under-produced
d) Both b & c —
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Government intervention to
correct Negative Externalities
are

Measures to minimize the
| market power are

| @) Market liberalisation by

(htroducing competition (N

previously monopolistic sectors

such as energy,

| telecommunication etc

b) Limiting amount of pollutants
released into water

c) Charge an emissions fee which is
levied on each unit of a firm’s

| emissions

d) All of the above

a) Direct Controls
b) Market Based Policies
c) Market liberalisation
d) a and b above

A A - g

The use of tradable permits t0
limit emissions is often called

P FFEEE R

a) Cap and trade
b) Permit and Trade
c) Bothaand b

d) None of the above

it as there will be less
for fishermen due to loss
of fish resources
This is an example of

Which statement is correct with
regard to Demerit goods?

a) Demerit goods are socially

undesirable | a) negative production externality
b) The production and consumption | is received in consumption

of demerit goods are likely to be | | b) negative production externality

more than optimal under free ! is received in production

markets. | ¢) negative consumption
c) Both a and b | externality (s  received ir
d) None of the above production

consumption

: | d) negative consumption
Examples of Demerit goods are | externality is received in

a) Cigarettes
b) Education

c) Health care
d) All of the above - | | 17

Which are the goods are

When an individual raises an
attractive garden and the
persons walking by enjoy the
garden

This is an example of
produced and consumed as P

public goods and services
14 | despite the fact that they can
be produced or consumed as
private goqu which may prove

a) nhegative production externality
s received in consumption

.
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| b) positive production externality (s
received in production

dangerous to society.

u
5
i
&
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a) scientific approval of drugs, ¢) positive production externality is
b) production of strategic products || received in consumption
such as atomic energqgy, |
C) provision of security at airports | d) positive consumption externality
eGe is received in production

d) All of the above

Enroll in MVSIR's CA Foundation & CA Inter classes from- www.ultimateca.com
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A firm which offers trainip
its employees for InCreq
their skills generates benefit

g to

Smoking cigarettes in pub_lic
place causing passive smoRing Sing

S 0n

by others :
other firms when they hire
TR example of SUch
This is an examp ‘ workers as they change their
a) negative production externality | jobs S &
i< received in consumption This is an example of

b) negative production externality
_ ‘< received in production |
'i | ¢) negative consumption

a) Positive production externality |
received ih consumption

b) Positive production externality jc

| received (n production

consumption | | ¢) Positive consumption externality

' s received th production |

d) Positive consumption externality

s received th consumption

externality S received |

production

d) negative | ‘
externality S received N

consumption

TR T

If people get immunized against
contagious diseases, they would
confer a social benefit to others

A firm which offers training to

its employees for increasing

their skills generates benefits on

other firms when they hire such

| workers as they change their
jobs

| This is an example of

as well by preventing others

from getting infected.
This is an example of

a) Positive production externality (s

received in consumption '| a) Positive production externality is
b) Positive production externality (s | received in consumption
received in production | b) Positive production externality is
c) Negative consumption || received in production
extema(_ity S recelved N | || ¢) Positive consumption externality
production s received in production

| d) Positive consumption e?cternality d) Positive consumption externality
(s received tn consumption ' (S received in consumption
l___________——— st el S—"

Excessive consumption of
alcohol causing impairment in
efficiency for work.

This is an example of

occurs when there is an
iImbalance in information
between the buyer and the
seller i.e. when the buyer knows
more than the seller or the
| seller knows more than the
B buyer

20

B il ——

a) negative production externality
s received ih consumption

b) hegative production externality

IS recetved in production

L C) hegative consumptior

externality 1S recelved LN

production

d) negative .
iy S ESCHosehe St § ) fect information

CoOnsumption

a) Asymmetric information

b) Symmetric information

d) All of the above

i
s
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was given by

R e g

a) Paul Samuelson
D) JM Keynes

c) Baumol & Tobin
d) George Akerlof

- S

= = = W S g

. is about informed person’s
taking advantage of a less-

informed person through an
unobserved action

a) Adverse Selection
b) Asymmetric Information

c) Moral Hazard
d) None of the above

e —— e T ——

e —

[ (s about informed person’s

taking advantage of a
informed person through
unobserved action

less -
an

25
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a) Adverse Selection
b) Asymmetric Information

. % 4 - - - J
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None of the above

a)

..

| The concept of Pollution Tax

was given by

- i

\

pollution taxes
COLmtry H},ﬂy [Cﬂf_jt 7Y N
d) All of the above

D) JM Keyni
cC) Hawtrey
d) Gi ‘ae Arerlof
| Problems in administering an
o efficient pollution tax are __
| S e———— . =
a) Easy tO determine and
administe because |t tnvolves
the UsSe ()1 Ch L[
administrative procedure:
b) If the demand for the gooda |
inelastic, the tax may nave only
an iInsignificant effect 12
reducing demand
c) High n one

Also join Telegram Channel of MVSIR
for regular updates- @camvsir

are are goods that have
substantial positive
externalities and hence they are
socially desirable

a) Public goods
b) Wage goods
c) Merit goods
d) Demerit goods

IS a maximum price sellers
are allowed to charge for a good

or service

Price floor
Price ceiling
Botha & b

None of the above
s Y PN SN ) SRR RV VORI, JON WERPREL:

Setting of minimum support
price by the government is an
example of ____

30

Price floor
Price cetling

Both a & b
None of the above

——

Setting of minimum support

30 | price by the government is an
example of |
a) Price floor

b) Price celling

=y

. = '; i
C ) Elfjt%} (1 & U

d) None of the above
31 When prices which are set
below the market price is called
r - r— » e
a) Price rioon
D) Price cetlinc

c) Botha & b

d) None of the above

Making pdfs, photocopy, xerox,
sharing or selling MVSIR’s bOORs s

not allowed. It will lead to strict

legal action with monetary
penalties. Anyone even if found with

such things will be immediate!y
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A budget is a statement that |
' presents the details of

a) where the money comes from’
b) where the money goes to
¢c) Bothaand b
d) None of the above

minister makes a
:ier?e"edf budget speech at the
Of presenting the
before the ik qug“
a) Lok Sabha

b) Rajya Sabha
c) Vidhan Sabha
d) All of the above

The budget &cuments depict
information relating to receipts
ure for two years.

The budget also contains
estimates of the government’s
accounts for the next fiscal
year called

a) Budget estimates (BE) of receipts
and expenditure in respect of
current and ensuing financial |
year |

b) For the current year through
Revised Estimates (RE); and

c) Actuals of the year preceding the |

current year

‘ d) All of the above

l Part A of the budget speech
| gives an outline of

budgeted estimates.
b) comprehensive report
| ¢) Consolidated report _l

d) None of the above

The budget is prepared by the
Ministry of Finance in
consultation with

a) Prime Minister |
b) NITI Aayog and other relevant ||| a) the progress the government has
ministries made on various developmental
c) President measures, the direction of future
d) Leader of the Opposition policies and the government’s
tax proposals
Which Article of the b) the prevailing macro economic
constitution provides that in | situation of the country and the
respect of every financial year budget estimates for the next
4 | the ‘president shall cause to be financial year.
laid before both the houses ofl c) Bothaandb

parliament the “Annual | | 1) None of the above

Financial Statement”’ _
The budget process mainly
consists of

a) The administrative process,
wherein the budget along with
the accompanying documents are |
prepared (N consultation with
various stakeholders; '

b) The legislative process wheren
the budget 15 passedi by the
parliament after discussions.

c) Both aand b
d) None of the above

a) Article 110
b) Article 112
c) Article 113
d) Article 114

a) Preparation of the budget

b) Presentation and enactment of
the budget

C) Execution of the budget

d) All of the above

3 4 CA Mohnish Vora (MVSIR)
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By convention in an election
year, the budget may be

presented

b) Twice
c) Thrice
d) Four times

The Parliament has to pass the
Finance Bill within of its
introduction

a) 30 days
b) 45 Days
c) 60 Days
d) 75 Days

___________is intended to give
authority to government to
incur expenditure from and out
of Consolidated Fund of India

a) Policy Cut Motions
b) Guillotine

c) Appropriation Bill
d) Finance Bill

Compile)

Department of Revenue
exercises control for matters
relating to direct & indirect
union taxes through

a) Central Board of Direct Taxes

(CBDT) and
b) Central Board of Indirect Taxes

and Customs (CBIC)
c) Botha &b

d) Ministry of Finance

L RS ES - L T RS R g =

— consists of tax revenue
and non tax revenue

a) Revenue Expenditure
b) Revenue Receipts

c) Capital Expenditure
d) Capital Receipts

Centre’s net tax revenue Is thch

total of tax vrevenue afpe,
paying of

a) states’ share

b) National Calamity Contingent

duty (NCCD)
c¢) Both a and b
d) None of the above

a) Reserve Bank of India

b) Ministry of Finance (MOF)
c) Both b and ¢

d) None of the above

et I S R T e
o T S

The institutions responsible for
public debt management are:

— - 4

Which of the following is/are

17 | Non-Tax Revenue of govt?

a) customs duties

b) Union excise duties
c) Interest Receipts
d) All of the above

Recoveries of loans and
advances is an example of

a) Non debt capital receipts
b) Debt capital receipts

c) Capital Expenditure

d) Revenue Expenditure

a) Non debt capital receipts
b) Debt capital receipts

c) Capital Expenditure
d) Revenue Expenditure

i

Recoveries of loans and

advances is an example of ___

The economic
unproductive
expenditures can be extens!
and may have far reachind
effects such as-

a) larger deficits
b) higher levels of taxation,
c) lower economic growth

d) All of the above




iIs nodal department for
overseeing the public financial
management system in the
central government and matters
connected with state finances

associated with
external debt is the vVis-
a-vis the currency of
denomination of external loans
leading to in  the
government’s debt servicing
cost

a) Department of Revenue

b) Department of Expenditure

c) Central Board of Direct Taxes
(CBDT)

d) Both a & ¢

a) appreciation in the value of
domestic currency, i(nhcrease

b) depreciation in the value of
foreign currency, increase

c) appreciation in the value of
domestic currency, decrease

d) depreciation in the value of

domestic currency, increase

T B S gy e o SN R S RS S 1 & G e — B ieiie i e

consists of relevant data
across all Mministries/
departments to outline a profile
of the general financial
performance of the government
of India. It gives an aggregation
of various types of expenditure
and certain other items across
demands

lead to a reduction
assets or an increase (n

liabilities of govt

a) Revenue Expenditure
b) Revenue Receipts

c) Capital Expenditure
d) Capital Receipts

a) Revenue Profile

b) Expenditure Profile :
| ¢) Botha &b
d) None of the above

! Interest payments on debt is an

example of

a) Department of Economic Affairs

b) Ministry of Finance | | a) Revenue Expenditure
c) RBI | b) Revenue Recelpts l
d) Botha & b c) Capital Expenditure

d) Capital Receipts

External debt (bilateral and
multilateral loans) is managed I _J

Y | shows the government

a) Department of Economic Affairs revenue is insufficient to meet

n the Ministry of Fthance 28 | the regular expenditures In

b) RBI | connection with the normal
c) Department of Revenue functioning of the government

d) Botha & b

a) Revenue Deficit

When govt. spends less than
receipts the budget becomes _

b) Budgetary Deficit

a) Deficit

b) Surplus

c) Balanced

d) Any of the above

c) Fiscal Deficit

d) Primary Deficit

Enroll in MVSIR's CA Foundation & CA Inter classes from- www.ultimateca.com
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The excess of total expenditure

over total receipts excluding
borrowings during a given fiscal

year is called the

a) Revenue Deficit
b) Budgetary Deficit
c) Fiscal Deficit

d) Primary Deficlt

shows the total borrowing
requirements of the government
from all sources.

30

a) Revenue Deficit
b) Budgetary Deficit
| ¢) Fiscal Deficit

| d) Primary Deficit

In case revenue deficit occupies
a substantial share of fiscal
deficit, it is an indication that a
large part of borrowing is used

for

a) investment purposes rather than

for consumption
b) consumption purposes
than for investment
c) creation of assets
d) Investment purposes

rather

tells how much of the
government’s borrowings are
going towards meeting expenses
other than interest payments

a) Revenue Deficit
b) Budgetary Defictt
c) Fiscal Deficit

d) Primary Deficit

a) Cut Motions

b) Guillotine

c) Outcome budget
d) Consolidated Fund of Indig

Enroll in MVSIR's CA Foundation & CA |n
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Motions for reduction to varioy.
demands for grants are made iy,
the form Of seeking to

34 | reduce sums sought by govt on
grounds of economy o
difference of opinion

a) cut Motions

Guillotine Motion

Outcome budget
consolidated Fund of India

Once the prescribed period for
the discu*sf??‘on on demands for

grants is.over, the speaker of
Lok Sabha puts all the
standing demands  for

MR
e

grants, ‘whether discussed or
hot, to the vote of the house.
This is known as

cut Motilons

Guillotine

Outcome budget
consolidated Fund of India

The motion for leave
introduce a finance bill

to

can be opposed
can be opposed by Lok Sabha

can be opposed by Rajya Sabhd
cannot be opposed

The finance bill is taken up for
consideration and passing
the Appropriation Bill is passed.

37

a) Before

b) After

c) At the same time
d) Any of the above

—

The recommendations of Rajya

Sabha on Finance Bill ____— by
the Lok Sabha

e I S gt i e e O e ——

a) Must be accepted

b) May be accepted or rejected
c) Have to be accepted

d) Are always rejected

i

ter classes from- www.ultimateca.con
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| The ________ seeking to give Under Article 266(1) of the
effect to the government’s | Constitution of India, is
taxation proposals is introduced used in relation to alr?l;l:_f-l:a-nd
| * | in Lok sabha Immediately after | | flows where government s
the presentation of the general iy acting as a banker. The
| L EE TN expenditure from this fund need
a) Appropriation Bl not be dPPfOVCd by the
h) Finance Bill e Pf"”amant' A
c) Guillotine a) Consolidated Fund of India
d) | F[z’“*'”“"“" Profile ) ( ontingency Fund of India
r__;_i__'__.,'.,- S —— e ————————— c) Cont ingenc Y, ;.u”d of State
| All revenues received, loans d) Public Account

raised and all moneys received -
| 40 | by the government in
repayment of loans are credited

to

—

a) Consolidated Fund of Indua

h) Continaency Fund of Inda

c) Continaency Fund of State

d) Public Account MAak lr,(] pr’f phf}{fﬂ.ﬁ'}py. XETCQX,

| . — sharitng or selling MVSIK'S DOORS

i e fund placed at the | s not allowed. It will lead to
disposal of the President to | EEEprpr P R Rl A 1a

41 enable him/her to  maxe l penalties. Anyone even (f found
advances -0 e with such things will be

' vernment to meet , . . - |
:f;z::l::u/fgfeseen expenduture iImmediately pt;!ﬂ{.lll.?_'t)d without

et bt any prior notice.

s W, T i WOy - —— T s e

1) Consolidated Fund of India

: Fund of INndia

c) Contingency Fund of >tate
A !

- il

il

e o T P—T

e ———

Answer Key - Chapter 7 New MCQs (Unit - 3)

1 I 6 A 11119 rB 36[ D |41 | B
o s SEmmaay o B 4
2 7 | BN12| C D /37| B |42| D

| — l
3 8 n C C |38 B
Al39| B
4 B ,
14 . = S _— ’
. c l20lB|25| D [30] C 35| B |40 A |
_l___L L___L | SRS L__. gy d ;

3 s - . | eca.com
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e e e

Fiscal policy is the deliberate
policy of govt. where it uses

a) instruments of taxation,
b) public expenditure

¢) public borrowing
d) All of the above

a) demand-side policy
b) Supply-side policy
¢) Cost-side policy
d) Price-side policy

; a) Government revenue
| An economy which is producing b) Rates of taxes
| at does not require c) Either aor b
government action in the form d) None of the above
] of fiscal policy
| a) full-employment level | The most common objectives of
i x | .
(| b) Less than full-employment level fiscal policy are:
| €¢) More than full-employment level | a) Achievement and maintenance of
* d) Both b & ¢ full employment
' T b) M f orice stability
IS OF the DallaMAaE | | | 1 . of rate of econom
‘ho not y € ationNn Or ractec «
nomy development
d) All of the above
may get higher priority in
economy at or near © developing countries as
level of real GDP at all objectives of fiscal policy
a) Modern Economists a) stability and equality
b) Keynes & related economists 0) Stability
¢c) Classical Economists C) economic growth

fa) Internal Debt
B D) External Debt a)
1] c) Bothaand b b)
| d) None of the above c)
d)

A 4
PVWA4 CA Mohnish Vora (MVSIR)

decreased, reduce
increased , increase
decreased increase

increased , reduce

'“

frument of fiscal

nsists of changes in

and equity B

Anti-inflationary fiscal polic)
Contractionary fiscal polic)
Expansionary fiscal Policy

Recessionary fiscal policy

i |_r i
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Fiscal policies such as those
involving infrastructure
spending generally have

supply-side effects.

Under , fiscal policy
becomes ineffective as the
decline in private spending
partially or completely offsets
the expansion in demand
resulting from an lincredse i
government expenditure

a) Negative
b) Positive
¢) Balanced
d) None of the above

a) Liquidity Trap
b) Economics Bads
c) Crowding Out effect

What measures can government d) Impact Lag

take to achieve desired
redistribution of income.

30y

Decrease in government
spendin «B_cﬁmcrease in taxes is
an example of

a) Progressive direct tax system

b) Indirect taxes can be differential.
More tax on Luxury goods, Less
tax on Necessities

c) Both a and b

d) None of the above

a) Anti-inflationary monetary
policy

b) Contractionary fiscal policy

c) Expansionary fiscal Policy

d) Recessionary monetary policy

AW a ‘Contractionary fiscal policy
l "« | should ideally lead to a
| government budget deficit or a

What are the limitations of | ' ___ budget surplus

Fiscal Policy? | @) Smaller, smaller
b) Smaller, larger

a) Bad Timing |
b) Practically difficult to reduce (n

Govt. Borrowings Government expenditures

c) Difficulties in instantaneously related to meet the day to day
changing Govt. spending & | running of the government are
taxation policies | called as

d) All of the above _
a) current expenditures |

b) capital expenditures

c) transfer payments
means when there are d) Revenue receipts

14 | Possible delays in bringing in

legislation and implementing
them on account of bureaucracy

Government  expenditure s
when there is a fear of

inflationary rise in prices

a) Recognition Lag |
b) Decision Lag a) Increased

_ d
c) Implementation Lag bg g:%zﬁ:se same
d) Impact Lag Z) Both a & b

i

' 1
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National Savings Certificates ;.
an example of

govern ment can

a) Commercial Papers .
b) Market loans
c) Treasury bills

a) Levy new taxes s
| b) Increase the rates of existing

taxes ek

¢c) Lower the tax rates d) Small saving :
| d) Botha &b has negative net effect o,
: te demand s
: : : i vernment aggreégace ¢ hce
Blring . Anplaieh, . 292 leakages will be greater than
st injections. ‘
| a) Levy new taxes S
| b) Increase the rates of existing a) Balanced Budget
taxes | b) Budget Surplus
| ©) Lower the tax rates | ¢) Budget Deficit

d) Botha & b d) Both b & ¢

Which of the following is not
27 | effective in reduction in
inequalities of income

When the government borrows

from its own people in the
country, it is called

a) external debt
b) internal debt
Market loan

Revenue receipts

a) progressive direct tax system

b) Differential indirect taxes, nig
tax on luxury items and lowe

| tax on necessities

c) poverty alleviation programmes

d) Regressive direct tax system

- i

In gase= o - the
government issues treasury bills
and government securities of
varying denominations and

duration which are traded in
debt markets

e ——————

- Which of the following is @
recognition lag? ;

J——

a) Delay in recognizing the need for
a policy change

b) Delay in making a decision 01|
the most appropriate policy |

| ©) Delay in in bringing in legislatio™

and implementing them Y

account of bureaucracy

| d) When outcomes of a policy '

not visible for some time _—

a) external debt
b) internal debt
Market loan

Small savings

For financing capital projects of
government, long-term capital
bOhdS} ~are floated and for |

meetin.g_;_short-term government | Answer Key — Chapter 7 NES
expenditure, ___ are issued. MCQs (Unit — 4)

a) Commercial Papers

b) Long term debenturec
c) Treasury bills

d) Small savings loans
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Contractionary
involve:

. and
lncreasing |

consumption

investment and taxes.
Decredsing governmen
and increasing taxes.

| Increasing governmer
| and increasing taxes.

| d) None of the above

Objective of Fiscal policies are: :

| @) Increase Export of the country

| Make currency of the country
stronger

Reduce interest rate

Maintenance of price stability

t spending

t spending

Simplifying assumptions for
money multiplier are: |
a) Banks never hold excess reserves |
b) Individuals and  non bank ||
corporation never
| ¢) Both aand b
| d) None of these
S [t . L |
& a) Foreigh exchange Management
Act.
b) Founds exchange management
Act.
c) Finance Enhancement Monetary
AcCt.
d) ;uture Exchange  Management
&1,

n Marke’t}Faiiure is situation:

a) Free market leads to
misallocation of society a's
scarce resources

b) Overproduction or
underproduction of particular

e goods and service

| ¢) Less than optimal outcom

e
d) All of the above

| d) Indivisibility of good

| d) None of the above I

a) Private cost

p) External cost
c) Private cost + external cost

d) Private cost and external cost

Tragedy of the commons wgs
first described by:

a) Garrett Hardin

b) John Keynestan
c) Adam Smith
d) Alfrad Marshal

which of the following is not a
feature of public good?

a) Rivalry in consumption
b) Non excludable
c) Free Rider

Mr. Amit, a stock market trader
through inside information,
comes to know that share price
of X Ltd is likely to go up in
future, so he purchases the
shares to make a gain by selling
them later at higher price. It (s
a case of:

a) Moral Hazard
b) Asymmetric information
c) Free Riding

Which of the following steps arc

10 | taken by Govt. to correct
market failure?
a) Issuing a fixed nhumber of

permits, to limit the total level
of .pollution than can be legally
emitted during each period.
Subs:ldizing the production
merit goods

MaRing it mandatory to have
accurate labelling and disclosurés
by producers.

of




e - -

which of the following can be
Goods?

-..-|.|--I'--"""-"-"‘I

oy, _—

. i T . L - - ——

!I--._#"-d

1) Socially desirable
b) llk‘(’[}" CLO He

pro duced/unc ler-consumed
c) Requires GOvL. support

Undey

fﬂ All of the above

-

S e ———

—— —— .—-_'

MPC (s required to meet at

least:

a) Two times
h) Six times
) For times

- - i il - - R — - = . *“—l

4) Three times
Which of the following steps
under the fiscal policy is an

. — . e el e e e o o e . =
—— - e . - i

e d w  wm ————

.3 example of stabilizing the
economy? |
a) Making payments towards
pensions for retired military
personnel.
' b) Making payments towards
unemployment insurance
| benefits.
c) Allocating more capital for

spending on the construction of
national highways.

d) Decreasing the supply of money
within the economy.

As per Tobin’s theory demand |

14 | for money as a store of wealth
depends negatively on:

a) Inflation rate
b) Exchange rate
c) Interest rate

d) None of the above |

Making pdfs, photocopy, xerox,
sharing or selling MVSIR’s booRs
s not allowed. It will lead to
strict legal action with monetary
Penalties. Anyone even if found

- with such things will be
ImMmediately penalized without
any prior hotice.
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Which of the following is not
15 | true regarding the minimum

support price (MSP) mechanism
in India?

a) MSP works on the principle of |
price ceiling |
b) MSP works on the principle of
price flooring
| ¢) At the price fixed, there exists

| excess supply
d) Govt. procures the excess supply
of farmers.

Recently, in this year’s budget
the Government increased the
Tax on Cigaretter. This is an
example of which function of
public finance?

a) Allocation Function
b) Redistribution Function
c) Normative Function

| d) Stabilization Function

Which of the following is not a
type of externality?

a) Positive Externality
b) Reciprocal Externality
¢) Unidirectional Externality

| d) Partial externality

The Government adopting
Progressive taxation System to
18 | tax people on the level of their
income is an example of which l
function of public finance?

——ll-l—l

a) Redistribution Function
b) Allocation Function
c) Normative Function

d) Stabilization
Lo ——————

e —— - — — —

What are functions of
Government in economy?

a) Allocation Function
b) Redistribution Function
c) Stabilization Function

d) All of the above

e ————

e, —
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| b) It hav
; reducing demand _
| ¢) This does not provide any

genuine solution
d) All of the above

21 | hon excludable goods are
| overused to the disadvantage of
| the entire world.

a) Greenhouse Gas Effect

b) Land Erosion
c) Tragedy of the Commons

d) Degradation of Soil

Deposit multiplier and money
multiplier are not identical
because:

a) Banks do not lend out all of their
available money

b) All borrowers do not spend every
rupee

¢c) Bothaand b

d) None of the above

Scope of public finance includes:

a) Public revenue
b) Public debt
c) Public expenditure
d) All of these

- | A situation in which the
24| sconomy ‘&l experiencing
| unemployment and inflation at

T - . R ! : .
= Rl it el " .. ' - 5
e T L o s
SR, 1"'-- - ..'._‘ .
X £ Y i, = &' |
Gt G T A LT, . .
i el r- 3 POy : .--':-"'. o :';.-.l - e L . i
e B A e 3 ”: Jrn '.Fh;- - '-'.".,-_'._ Bk . PLL
g A B ity T L ey -
¥in | U T & - .

a) Contagion
b) Deflation

c) Stagflation
d) None of the above

4
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E inflation occurs when

a) Aggregate demand rises

b) The price of any
commodity rises

¢c) The average price of most gog,.
and services rises :

| d) The tax rate is lower than ty,

government spending rate

. ——

>n is an example of:

T Y

a) Public good
b) Merit good
¢) Social good
d) Club good

i Who is the father of Public
2 Finance:
| a) Dalton

b) Pigou

c) Smith

d) Musgrave
An expansionary fiscal policy 1S
used for:

a) Reduction in inflation

b) Increase in exports

c) Appreciation of currency
d) Close recessionary gap

Which lag involves delays ':
bringing in legislation an
implementing them?

a) Decision lag

b) Impact lag

c) Implementation lag

d) Recognition lag f

1 om
1i"-. "u"' l. .'L"' \.-"1-'.-‘; . L{ [ t { }I}q a te C a ; C .
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what was the main objective of
the Fiscal Responsibility and
Budget Management Act, of
20037

a) Progressive taxation
b) Regressive taxation
c) Proportional taxation
d) None of these

1) Achieve Fiscal Surplus
h) Stop Money Laundering
¢c) Eliminate Fiscal Deficit

| d) Eliminate Revenue deficit
B ——

_ Which of the main objective of a

Which of the following act of
government  constitutes ¢
Discretionary Fiscal Policy?

a) Unemployment Compensation

b) Progressive taxation

c) Change in slab rate of Income
Tax

¢) Raising public revenue
d) Reduction in capital formation l I d) Reduction in spending
The per capita income in m Positive economics means

country Y increased from INR
50,000 to INR 65,000 while the a) Does not depend on market
interactions

per capita consumption
increased from INR 37,5000 to b) Only looks at the best parts of
the economy

INR 48,750. calculate the _
spending multiplier for this c) Examines how the economy

tax?

a) Increase (nh consumption
h) Increase in production

33

economy? works(as opposed to how it
' should work)
a) S ' | d) Is very subjective
b) 4 ' e
e) 2.5 - Incidence of tax means
n 3 | a) Direct money burden
When expenditure exceeds total | | b) Indirect money burden
>4 | tax revenue it is called: | | | €) Actual tax burden
l d) None of these
a) Surplus budget
b) Deficit budget
c) Balance budget Which concept involves a one-
d) None of these shot injection of government
e e expenditure into a depressed
_ economy with the aim of
Among the following canons of boosting business confidence

taxation which one has been and encouraging larger private

given by Adam Smith? investment?
a) Canon of Uniformity a) Pump Priming
b) Canon of productivity | b) Deficit Financing
c) Cannon of diversity c) Compensatory spending
| d) Public Spending

d) Cannon of equity
: e R ARG e R S S
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